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Naming the Angle

Complete each equation with the correct angle name.

1) m ZLASN +m ZNSG = M ASE

2 mnsG +mes = MENSL

3y m sz +m Gt = INEESE

4y m LASG +m £GSE = WMLASE
5)}naSN+n:4NSL= MmEASL

53 mAESN+mANSA— WM& ASE
7)m4NSL+mALSE-— MLNSE

8) m LESL +m ZLSG £m ZGSN = MLNSE
8) m LASN +ni ZNSL +m ZLSE = MLASE

10y mr LGSL +m ZLSE +m ZGSN +m ZNSA = w\L ESA
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Angle Bisector Practice 129

Inthe JTgum. XP and ,\“f are oppositerays and XQ bisocts
£ PXSIFor each situation, find the value of x and the measure
of the indicated angle.

8. MLSXT = 4x + 1, ML QXS = 2x = 2.
mL QNT = 125, m £ QNS _ LTA

Iy -Lt4xtl =5
X -\ =175
Y 4]
X =11
(o

WL QRS = 2(21)-L =42-7 = '@

In the fifgure. XP and XT are opposite rays and XQ bisects

L PXS\For each sltuation, find the value of x and the measure
of the indicated anaola. - -

9. mL PXR = 3x, m£L RXT = 5x + 20, mLRXT .

3x +9% +20 =170

D% +720 =180
- 20 =20
 LPRE 120

MLERT 2 5(20) +20 "'i”"-oel ="

In the figure, XP and XT are opposite rays and XQ bisects
£ PXS. !g-'or each situation, find the value of x and the measure )l*\"" o

of the Indicated angle. \l\. 6‘\.\-5
10. mZL RXQ =x + 15.m£L RXS = 5x - 1T, R
ms QXS = 3x + 5, ms RXS

X+(% +Dh+5 =5%—1 . N B T A
4X+20 =5x-71
Gl s e
AR+ U] =Dt
4 AR TR mgrs =3t g )
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Ix+T

In the figure, X;ﬁ‘and XT are opposite rays and XQ bi
bisect
*dl PXS.'For each situation, find the vaiueyor X and the meassure

of the indicated angle.
11. m£LRXQ =23+ T.mL RXP = 3x - 11.
ms PXS =x +37. m£ QXS

Ix +TF DA Ly Ty Hy- 1) = 457

¥t

N
%

3n-Il +2y47 = %137

OR -3 = x+%7]
X - 7
- .
ax - 45
a9 Ox -0 = xt+37
{X=6& 10 19
, ; ‘1% =X £+
X ~ ¥
Ax -4

MLENS = 2x+T +3x-11 = Gr-425(5)4 [ |°
: : £
| b

ure. XP and XT are opposite rays and XQ bisects
situation, find the value of x and the measure

In the frg
£ PXSIFor each
of the indicated angle.

12. m2 TXS =x + 3. mL SXR = 2x + 9. msZRXP=4x-1T;
ms PXS

4*4742x+Q+1+5ﬂa)
TR 49 2190
“y S
xz 109
= 7
‘50‘;"" % a3 =34 0

mefxs = 1215 -(1521
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